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Convert the following function: T(x) = x? — 2x — 9 to Vertex Form and find the
following: (20 Points)
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Show by substitution that the following: X = K]
5 = 0 (5 points).
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Solve using the Square Root Property. (4 points each)
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Solve using Completing the Square. (4 points)
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Solve using the Quadratic Formula. (4 points)
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7. Find the equation of the line in Standard Form which is parallel to y =
passing through (-3, 5). (4 points)
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8. Given the equation: 5x — 9y = —22, find the equation of the line perpendicular to the
given equation traveling through (—4, —5) and write you equation in Standard Form. (5
points)
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